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1 OLIEHOYHBIE MATEPHAJIBI 110 OCBOEHUIO JAUCLMTUIMHBI
(MOJYJLS)

Texymuii KOHTPOJIb YCIIEBAEMOCTH 00SCIICUNBAET OIICHUBAHNE X0/1a OCBOCHHUSI
JTUCHUTUTUHBI (MOIYJIA).

[IpomexxyTouHass aTTecTalus MpeAHa3HayeHa JUIsl OIEHKU JIOCTHIKCHUS
3aMJIaHUPOBAHHBIX PE3YyIbTATOB OOYUYEHUS IO 3aBEPIICHUIO U3YUYEHUS JTUCHUTIINHBI
(MOJTyJIsT) ¥ TIO3BOJISIET OIICHUTHh YPOBEHB M KAYECTBO €€ OCBOCHUS 00YJArOIITUMUCH.

KoMIiekT OIEHOYHBIX MAaTepuajoB TMPEACTABISIET CO0O0H COBOKYITHOCTh
OIICHOYHBIX CPEJICTB (KOMIUICKC 3aJaHUil Pa3IMYHOTO TUIIA C KIIFOYaMH MPaBUIBLHBIX
OTBETOB, BKJIIOYAs] KPUTEPHUH OIEHKH ), UCTIOJIB3YEMBIX MPHU MPOBEICHUN OIEHOYHBIX
npoueayp (TeKylero KOHTPOoJIsl, MPOMEXYTOYHOM aTTECTAIMK) C 1IEJIbI0 OLICHUBAHUS
JOCTHKEHUS 00YUaIOIUMHUCS Pe3yIbTaTOB O0YUEHHUS 110 JUCIUIUIMHE (MOIYJIIO).

1.1 Onenounble cpeacTBa U OaUIbHBIE OLEHKH I KOHTPOJIBHBIX
MEPOIPHUITUI

Tabnumna 1.1 O0beM AUCHUIUIUHBI (MOJTYJISI) ISl OYHOW (POPMBI O0yUEHHUS
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Tekymmii KOHTPOJb YCHEBAEMOCTH W MPOMEKYTOUYHAS aTTECTalMsl IO
TUCITUTUIMHE (MOJIYJII0) OCYIIECTBIISIETCS B COOTBETCTBUU C OaNIIbHO-PEUTUHTOBOM

cucremoir 1o 100-OaynbHOM 1IKanme. banbHble OLIGHKA IS  KOHTPOJBHBIX




MEPOTNPUATAN  MPEJICTABICHBI

B TaoOuIe

TPaJUIIMOHHYIO OLIEHKY NpejcTaBieH B Tabnuue 1.3.

1.2. TIlepecuer cCymMmBbl

Ta6nuna 1.2 baiibHbIe OIEHKH JJ1s1 KOHTPOJIbHBIX MEPOIPHUSATUI

HanmenoBanue Makcumanbubii | MakcumanbHblii | MakcuMaabHbIN Beero 3a
KOHTPOJIBHOTO Oayut Ha iepByto | 0ayut 3a BTOpyro | 0alii 3a TPEThIO cemectp
MEPOIPUSITHUS aTTeCTallUIO aTTeCTallUIO aTTeCTalUIO

4 cemecTp
TecTupoBanue 10 16 12 38
Brinonnenue - 8 4 12
WHIUBUAYaJIbHBIX
(moManrHux) 3agaHui +
YCTHBIN OITPOC
Hroro (Makcumym 3a 10 24 16 50
TIEPUO.T)
3auer 50
Hroro 100
5 cemecTp
TectupoBanue 10 16 12 38
Brinonaenue - 8 4 12
WHIMBUTYaIbHBIX
(moMantHuX) 3agaHui +
YCTHBIN OITPOC
Htoro (MakcumyM 3a 10 24 16 50
TIePUOJ)
3auer 50
Uroro 100

Tab6nuna 1.3 Illkana oreHKN Ha MPOMEKYTOUHON aTTECTAIIUU

Beipaxkenue B Oannax

CrnoBecHOE BbIpa)KeHHE MPU
(dhopMe TpOMEKYTOUHOM
aTTeCTAIlN! - 3a4eT

CrnoBecHoe BbIpaykeHHE MPH
dopMe IpoMeKYTOUHOM
aTTeCTallUU — HK3aMeH, 3a4eT

C OLICHKOM
ot 86 1o 100 3auTeHo OTan4HO
ot 71 mo 85 3auTeHo Xopoiio
ot 51 1o 70 3auTeHo Y 10OBIIETBOPUTEIIHLHO
J0 51 He 3aureno HeynosnersopurenbHo

dopmMa U oOpraHuzanus MPOMEXKYTOUYHOM aTTECTAllUM IO UTOTaM OCBOECHUS

AUCHUILIMHEBI — 3a49€T IIPOBOAUTCA B BUAC NTOIOBOIO TCCTUPOBAHMA.

CDopMa M OpraHu3anu:id HpOMe)KYTOqHOﬁ aTTeCcTaluu 110 u'ToraM OCBOCHUA

AUCHUIUIMHBI — 3a49CT IPOBOAUTCA B IBA 3Talld: YCTHBIC OTBCTHI HA

9K3aMCHAIIMOHHBIC BOIIPOCHI U BBIIIOJIHCHUC MHIWBU/IYAJIbHBIX 3aJ1a4 I10 ITPAKTHUKC

(nenoBo€ MUCHMO).

Oa/UI0OB B




2 O1ieHOYHBIE CPECTBA JJIS MPOBEACHUS TEKYIIETO KOHTPOJIS

2.1 TecToBBIE BOIPOCHI

TectoBble  BONPOCHI  COAECpXKAT  CJCAYIOIIME  THUMBI  BOIMPOCOB  C
COOTBETCTBYIOIINM KOJHYECTBOM OaJlJIOB 3 MPABUIILHBIA OTBET:

Tun Bonpoca KonmgecTBo 6ayioB 3a MpaBUIIbHBIA OTBET
3a1poc BeIOOpa BapUaHTOB OTBETA 1
3apOC HECKOJIBKUX OTBETOB 1 -npu BrIOOpE BCEX MPaBUIIbHBIX

0,5 —3a 2 npaBUIIBHBIX U3 3
0,25 —3a 1 npaBuiIbHEIHA U3 3
0,5 —3a 1 npaBUIIBHBIN U3 2

3arpoc BBOJA NPONYIIEHHOT'O TEKCTa 1

Tect. VYrkaxure MNPCIOKCHHUA, KOTOPBIC MABJIIIOTCA IIPAaBUJIBHBIM IICPCBOJOM
CIIEAYIOIIETO PYCCKOIr0 MPEAIOKEHUSA:

1. «Jlons HaMOHAIBHOIO JOXO0/Aa, KOTOPasi MOKET ObITh MOTPAaY€Ha Ha
HallMOHAJIBHYIO 000POHY, KOJIEOJIETCS B pa3HbIX CTPaHAX.

a) The share of national income that can be spent on national defence varies from
country to country.

b) The share of national income that could be spent on national defence was different
in different countries.

¢) The share of national income to be spent on national defence was discussed by the
Parliament.

2. «C‘II/ITaIOT, 4TO OCHEI IIOCTABOK 3daBUCAT OT IIPOU3BOACTBCHHBIX U3ACPIKCK».

a) Economists believe supply prices to depend on production costs.

b) Supply prices are believed to depend on production costs.

d) Supply prices were expected to depend on production costs.

3. «3a CHI)KEHHUEM HOTpC6I/IT€HBCKOFO A0X0/J1a MocCjIca0BaI0 YBEIMUCHUE CIIPpOCAa HA
HHU3KOKa4YCCTBCHHLBIC TOBAPLD».

a) The decrease in the consumer’s income was followed by the increase in the
demand for the inferior goods.

b) The increase in the inferior good demand was followed by the decrease in the
consumer’s income.

¢) The increase of the demand for the inferior goods followed after the decrease of
the consumer’s income.

4. «Kak MAaKpO3KOHOMHKA, TaAK 1 MUKPOSKOHOMHUKA NPLCIIOAAIOTCA CTYACHTAM,
0Oy4JaronmmMcst Ha IKOHOMHYECKUX (PaKyIbTeTaxy.

a) Both macroeconomics and microeconomics are taught by students studied at
economic departments.

b) Both macroeconomics and microeconomics are taught to students studying at
economic departments.

c¢) Both macroeconomics and microeconomics have been taught to students studying
at economic departments.



5. «IIpaBuTenbCTBAa MHOTAA PETYIMPYIOT MAKCUMAJIbHBIE YPOBHH apEHIHOMU ILIATHI,
KOTOpPasg OOJIDKHA BBIIVIAYUBATHCA ApCHAATOPAMMNY).

a) Governments sometimes regulate maximum rent levels paid by tenants.

b) Governments sometimes regulate maximum rent levels to help tenants to pay the
rent.

¢) Governments sometimes regulate maximum levels of rent that is to be paid by
tenants.

6. «J1y1st TOrO 4TOOBI ONPENETUTh YPOBEHb 0€3pad0THUIIbI, HEOOXOIUMO 3HATH
KOJIMYECTBO 3aHATHIX pad04MX U pa3Mep paboydeil CUITbI».

a) To measure the unemployment rate it is necessary to know the number of workers
in employment and the size of the labour force.

b) To measure the unemployment rate in an economy is as difficult as it is difficult to
measure the number of workers in employment and the size of the labour force as a
whole.

¢) Knowing the number of workers in employment and the size of the labour force we
can measure the unemployment rate.

7. «HpI/I OIpaHUYCHUH PECYPCOB KOMIIAHMA JOJDKHA CKOHIHCHTPUPOBATLCA Ha
PCHICHUH CaMBbIX BA’KHBIX 3aJ1a4».

a) Being limited by resources, the company should concentrate on solving the most
important tasks.

b) Being limited by resources, the company should concentrate on solving the less
Important tasks.

¢) Solving the most important tasks, the company should be limited by resources.

8. «Ecnu Tpy10BbIe pecypchl OYIyT UCIOIB30BATHCS MTPABUIIBHO,
IIPOU3BOAUTEIBHOCTE TPY/1a BEIPACTET).

a) Labour efficiency would grow, if labour resources had been used properly.

b) If labour resources were used properly, labour efficiency would fall.

c) If labour resources are used properly, labour efficiency will grow.

9. ((CDaKTopH, BJIMAIOIINMC HA PBIHOYHBIC IICHBI, JOJDKHBI ITPCACTABIIATE HHTCPCC LA
Ka>Xa0ro IIPpOU3BOJUTCILI.

a) Factors influencing prices in a market should be of interest to every producer.

b) Prices influencing factors in a market should be of interest to every producer.

c) Every producer should be interested in market prices.

10. «C‘H/ITaJ'IOCB, 4TO ABYMSA OCHOBHBIMHU 9KOHOMHWYCCKHUMH CUCTEMAMM ABJIAIOTCA
KalluTaJIn3M U COUAIN3M, a DKOHOMHWKH CMCIIAHHOT'O TUIIA HAXOAATCSA MCKIY
HUMNW.

a) Mixed economies are considered to be lying in between capitalism and socialism.
b) If the two principal economic systems are capitalism and socialism, then mixed
economies lying in between those.

¢) The two principal economic systems were considered to be capitalism and
socialism, mixed economies lying in between those.

11. People have to choose the way of living provided the

situation in the country is unfavourable.
a) economical, economic



b) economic, economical

c¢) economical, economical

12. One of the important tasks of a firm is to obtain the maximum amount of a
commodity using any given quantity of

a) input

b) costs

C) outputs

13. Some branches of economy such as agriculture greatly climate.

a) depend on

b) include

C) impose on

14. In some industrial countries producers don’t the government
regulation and make all decisions themselves.

a) depend on

b) impose

c) supply

15. The money a producer should compensate for all his expenses and
leave him with some profit.

a) earns

b) rises

c) allocates

16. Every day money is from one bank to another in thousands of cities.
a) transferred

b) measured

c) replaced

17. Increasing output by one unit we shall have the increase in the cost
known as marginal cost.

a) total

b) particular

¢) normal

18. The of goods consumed by an individual is restricted by the total
of money he earns.

a) quantity, amount

b) amount, amount

¢) number, amount

19. Chemical industry fertilizers for farming.
a) provides

b) employs

c) applies



20. The demanded of a good depends on a particular market, the number of
consumers, their tastes and even the season of the year.

a) quantity

b) number

c) quality

Test. Choose the correct answer:

1. When prices are above the equilibrium price, it will result in supply of
goods.

a) excess

b) surplus

c) shortage

2. Calculating expenditures on running a business it is necessary to expenses
on maintaining buildings in good repair.

a) include

b) influence

C) improve

3. The increase in a country’s growth can be achieved by using more
_______machines and technologies consuming less electricity.

a) economic, economical

b) economic, economic

c) economy, economical

4. The aim of producers using this new technological improvement is to

higher profits.

a) receive

b) affect

c) offer

5. Within budget constraints the increase in consumption of one good will the
consumption of the other.

a) reduce

b) rise

c) follow

6. There are many examples of goods that are consumed together, such as bread and
cheese, cars and petrol, so they are called goods in economics.

a) complementary

b) normal

c) alternative

7. The producers have to the total output as the demand has grown.

a) increase



b) impose

C) rise

8. Employed workers as well as those unemployed labour force.

*make up

add

replace

9. As consumer demand is not at different markets, the goods prices vary as
well.

a) constant

b) minimum

¢) marginal

10. The development of national Is based on the laws and principles which
are of special interest to belonging to a group of social sciences.

a) economies, economics

b) economics, economists

C) economy, economist

11. One of the producer’s tasks is to choose the level of output that maximizes his
total economic

a) profit

b) costs

C) expenses

12. The goods price does not vary greatly within a particular market as all sellers

impose practically prices.

a) the same

b) floor

C) some

13. In planned economies government intervention total control over

resources allocation and output consumption.

a) resulted in

b) followed by

c) influenced on

14. Different sweets and chocolates are known as goods for sugar.
a) substitute

b) normal

c) inferior

15. On private farm land, buildings and all the profits earned are by the
farmer.

a) owned

b) obtained



¢) included

16. The decrease in production costs leads to the in the total profit obtained.
a) increase

b) reduce

c) fall

17. explain most laws giving examples from people’s everyday
life.

a) economists, economic

b) economists, economical

Cc) economics, economical

18. In a command economy the output level was by the decisions of the
central office.

a) influenced

b) received

c) depended

19. Market supply is calculated in terms of the alternative quantities of a commodity
all producers in a market can offer.

a) particular

b) same

c) total

20. of assumptions are used by economists studying the theory of supply
and demand.

a) a number

b) the amount

¢) numbers

21. Provided a consumer’s income has increased, he will to buy more normal
goods rather than inferior goods.

a) decide

b) assume

C) earn

22. To economize is to produce a given output of a product at the lower than
before.

a) cost

b) profitability

Test. Choose the correct answer:

1. In a command economy the output level was by the decisions of the central
office.

a) influenced

b) received

10



c) depended
2. Market supply is calculated in terms of the alternative quantities of a commodity
all producers in a market can offer.
a) particular
b) same
c) total
3. On private farm land, buildings and all the profits earned are by the
farmer.
a) owned
b) obtained
¢) included
4, of assumptions are used by economists studying the theory of supply
and demand.
a) a number
b) the amount
) numbers
5. Provided a consumer’s income has increased, he will _ to buy more normal
goods rather than inferior goods.
a) decide
b) assume
C) earn
6. To economize is to produce a given output of a product at the lower _ than
before.
a) cost
b) profitability
c) contribution
7. The theory of supply shows that an increase in production cost output
level.
a) decreases
b) leads
c) depends
8. There are many examples of goods that are consumed together, such as bread and
cheese, cars and petrol, so they are called goods in economics.
a) complementary
b) normal
c) alternative
9. The demand for goods always rises with the increase in consumer incomes.
a) high-quality
b) substitute
11



c) inferior

10. The increase in quantity demanded is by an increase in quantity supplied.

a) followed
b) resulted
c) maintained

11. The situation at the market when the consumer demand is higher than the quantity

supplied is known as
a) shortage

b) excess

c) surplus

12. The development in the Soviet block countries was influenced by
Important reforms which took place at the end of the 20™ century.

a) economic, economic

b) economical, economical

C) economic, economics

13. of countries regulating their economies is constantly increasing.
a) the number

b) the amount

¢) the quantity

14. High levels of profits can be by producers through improvements in
technology.

a) received

b) owned

¢) limited

15. The allocation of resources among alternative uses is an important
problem for all nations.

a) limited

b) unlimited

c) total

16. One of the important tasks of a firm is to obtain the maximum amount of a
commodity using any given quantity of

a) input

b) costs

C) outputs

17. The of goods consumed by an individual is restricted by the total

of money he earns.
a) quantity, amount
b) amount, amount
¢) number, amount

12



18. The money a producer should compensate for all his expenses and
leave him with some profit.

a) earns

b) rises

c) allocates

19. Every day money is from one bank to another in thousands of cities.
a) transferred

b) measured

c) replaced

20. Market supply is calculated in terms of the alternative quantities of a commodity
all producers in a market can offer.

a) particular

b) same

c) total

Test. Match the formal and informal phrases. Then cover the right column and try to

remember the formal equivalent for each phrase on the left.

Informal Formal
1) Sorry about the late delivery. a) Please do not hesitate to contact us.
2) If you need more information... b) We received delivery this morning.
3) Best regards. c¢) I would be grateful if you could...
4) in a different envelope d) Please find enclosed...
5) Sorry about the mistake. e) Dear Madam/Dear Ms Clove
6) I’m sorry, but it’s not possible. f) Please acknowledge receipt of the
7) soon parcel.
8) Could you...? g) | look forward to seeing you.
9) Just call the office. h) We would be pleased to offer you a 5%
10) Thanks for your letter of... discount.
11) We got it this morning. i) We would like to apologise for the
12) Can’t wait to see you. delay.
13) Dear Marge J) under separate cover
14) Let me know if you get the K) in the near future
parcel. I) We regret to inform you that we are
15) Could you find out what is | unable to...
going on? m) Could you please give this matter your
16) Please send us your samples. | immediate attention?
17) I hope to hear from you. n) I look forward to hearing from you.
18) We will give you a 5% 0) We are writing to thank you for your

13




discount. letter dated...

19) Here is a copy of... p) Yours faithfully/ Yours sincerely,

q) | would be grateful if you could send us
some samples.

r) Should you require  further
information. ..

s) Please accept our apologies for any

inconvenience this may have caused.

Test. Look at the texts from three faxes that contain easily confused words and
choose the correct or most appropriate words.

1) | am writing with (1) connection / reference / regarding to our telephone
conversation this morning about your order 7895LG. | must (2) regret / apologise /
sorry for the delay in processing this order. |1 can now confirm that the goods have
been shipped and should (3) arrive / reach / deliver you within 10 working days. We
have taken special (4) care / attention / caution to make sure that the items are
exactly as you requested.

Once again, please (5) take / have / accept our apologies. If you have any further
guestions, do not (6) stop / fail / hesitate to contact me again.

2) 1 was (7) sorry / unhappy / afraid to hear about the damage to the products that

you received this morning. However, | am (8) afraid / apologise / regret that we

cannot (9) accept / except / have responsibility in this (10) topic / material /
matter.

All our products are (11) controlled / checked / looked very carefully before
leaving the factory, and the damage in this case must have been caused in transit. |
(12) propose / suggest / tell that you contact the shipping company directly about
possible compensation.

In the meantime, we can ship the same order to you again, if it would help. If you
give us a firm instruction to do so (13) until / by / within the next few days, it should

reach you (14) until / by / within the end of the month.

3) I am writing to you (15) affecting / connecting / concerning the meeting that we
(16) combined / appointed / arranged for this Friday. | am afraid something urgent
has come up and | will not be able to attend. Can we (17) cancel / postpone / schedule

the meeting until next week? I can make any time Wednesday or Thursday.

| apologise for any (18) disadvantage / inconvenience / unfortunate this may
cause, and 1 (19) look forward / wait / anticipate to (20) hear / hearing / know from
you.

14




Test. Fill in the gaps in the letters with the words on the right.

1) The Chairman and the 1  Director of this

a) bedrooms

Company will be visiting Glasgow in September, for the b) suite
World 2 and will requirea 3 withtwo 4 . A c) floor
5 room, on the same _ 6 if possible, will also be d) single
needed for their 7 e) accommodation
Please let me know whether we can receive this 8 ) charges
from 10 to 15 September _ 9 . I shall be glad to have a g) managing
reply by fax, with details of your 10 h) Trade Fair
1) inclusive
J) secretary
2) The name of your __ 1  has been given to me by a) indicated
the Hotels 2, and I shall be 3  obliged if you will b) private
4  me know whether you have the - c) accommodate
accommodation 6 for 3 weeks, from 15 July: one d) let
__7__room, if possible with 8  bathroom, and one e) advance
single room. f) available
If you are ableto 9 us at the time _ 10 please g) following
let me have your _ 11  or brochure giving inclusive h) board
_ 12 forfull 13 1) hotel
| thank you in __14  for your reply. J) much
K) terms
I) double
m) tariff

n) association

2.2 JIabopatopHsbie padoTel. He npexycMoTpeHsl

2.3 PacuetHo-Tpaduueckas padbota. He mpenycmorpena
2.4 Kypcogas padota. He npenycmorpena.

3. OuileHOYHBIC CpeACTBa MJisi TPOBENCHUSI TMPOMEKYTOYHOTO KOHTPOJIS

(IpOMEeXyTOYHOM aTTeCTalMN)

Cemectp Bun Bu KOHTPOJILHOTO MEPOTIPUSATHSI BanmnsHbie
IIPOMEKYTOUHON OLICHKHU
aTTecTalun
4 3a4eT TecToBbIE 3a1aHU 0-20
DK3aMeHaIMOHHBIE BOITPOCHI 0-30
5 3a4eT TecToBbIE 3aMaHUA 0-20
DK3aMEHAIMOHHBIC BOTIPOCHI 0-30
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3.1. TecrToBbie 3anaHusd

TecToBble 3alaHus TPOMEKYTOYHOM aTTECTAllMUM MPECTaBISIOT CcOOO0M
COBOKYITHOCTb TECTOBBIX BOIPOCOB TEKYIETO KOHTPOJIS.
3.2 KommiekcHoe 3a1anue (3K3aMeHAIIMOHHBIN OUJIeT)
bunersl 3auera/sK3aMeHa PaABHOIEHHBI 1O TPYAHOCTH, OJMHAKOBHI IIO
CTPYKTYp€, apajuiesibHbI IO PacHoJIOKEHHIO 3a/laHuid. B Ousere nBa Bompoca.
KommniekcHoe  9K3aMEHAIlMOHHOE — 3a/laHhe€  COCTOMT U3 2 BOIPOCOB
TEOPETUYECKOTO M NPAKTHYECKOTO Xxapakrepa. [IepBelii BOIpOC — TEOPETUYECKHM,
HaIpaBJICHHBIM HAa JIEMOHCTPALIMIO YMEHUS padoTaTh C ayTEHTUYHBIMU TEKCTAaMU C
IIEJBI0 W3BICYCHUS HEOOXOoAMMOW HWH(POPMAIMH TI0O OCHOBHBIM ASKOHOMHYECKUM
BOIIPOCaM, IPaMOTHOE U3JI0KEHUE COOCTBEHHOW TOYKU 3PEHUSI.
BTopoii Bonpoc HampaBiieH Ha MPOBEPKY BIIAJICHUS] PA3HOCTOPOHHUMH HaBBIKAMU
Y MpueMaMy aHHOTUPOBAHUS U pedepupoBaHUS ayTEHTUYHBIX TEKCTOB, BEICHUS
J€JIOBOU TIEPETTUCKHU.
3.2.1 Bompocsl Ha 3auere/sK3aMeHe (IK3aMeHAIMOHHBIE BOIIPOCHI)

TGOpCTH‘IeCKI/IC BOIIPOCHI

1. What is one modern definition of business? How does this modern meaning of
business differ from the traditional one? What factors have brought about these
changes?

What is profit? What do companies do with their profits?

3. What are the secrets of success in business? Why does the kind of equipment

you’ll need vary according to the type of business you want to establish?

What information does resume contain? What does this usually accompany?

What kinds of interviews do you know? How do they differ? What are the

benefits that go with the job?

6. What does the term “ageism” mean? Why is it difficult to apply for work over

30?

What are the main reasons for doing your work well?

8. What does the term “marketing” mean? What four main elements are known as
the four P’s? What does each element involve? What is a common channel of
distribution?

9. Why is it important not to plan the marketing strategies in isolation? What does
a successful marketing mix depend on?

10.What are the different ways in which an advertiser’s message can be
communicated to  his/her  audience? @ What are the main
advantages/disadvantages of each media?

11.Why does management play a vital role in any business activity? What do
managers’ duties include? What are the main management functions? What do
they involve? What skills do managers need to perform these functions
adequately and efficiently?

12.What is the difference between the salaried managers and the individual
capitalists who owns the company?

no

ok

~
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13.What personal qualities do you think good managers should have? Why are
interpersonal skills essential for effective management?

14.Why do companies often recruit from outside the organization? Which kinds of
organizations are most likely to recruit through referrals by existing
employees?

15.How can a person identify important activities and plan the best way to use
time? Name the most common sources of problems in time management. What
are the benefits of improving time management?

16.Enumerate the remedies that are usually successful in reducing the number of
drop-in visitors/ telephone interruptions and keeping visits brief.

17.Discuss the remedies that can help to reduce clutter and disorganisation in an
office, including better organization of files, decision rules for handling
paperwork efficiently, efforts to reduce the amount of necessary paperwork and
better screening of paperwork by others.

18.Name a number of reasons why some managers become overloaded with
unnecessary tasks and give possible remedies for this problem.

19.Discuss possible ways to eliminate unproductive or over-long meetings.

20.Discuss the steps of short-term planning (weekly activities or daily activities).
Why should a manager take into account natural energy cycles and bio-rythms
while planning daily activities?

21.Why is accounting called the “language of business” and what are the ways to
communicate information on the financial status of an organization?

22.Name two common financial statements. What is the difference between them?
What kind of information do they provide?

23.What is known as capital? How can corporations receive their starting capital?
Why does a new business need capital? What represents an investment of
capital in a new business? How is short-term/ long-term capital used in
financing business?

24.What are two basic types of financing used by a corporation? How does the
success (failure) of a corporation influence the stockholder?

25.Give the example of debt financing. What can cause debt financing? Try to
characterize this type of agreement.

BOI’lpOCbl 07151 COCMABIEHUSL MOHOJI0208 U OUATI0208

1. Speak about your company: Who do you work for? Where do you work? What
does the company do? Do you have any famous brands? Who are your main
competitors?

2. What project are you working on at the moment?

3. Do you prefer speaking to people face-to-face or on the telephone? Who do you
talk to on the telephone? What problems do you have on the telephone?

4. How does your company get new business? How does your company stay in touch
with regular customers? How do you find out about companies you want to do
business with?
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5. Why do companies create new products and services?

6. What are the stages in the life of your products or services? What stages are you
and your department involved in?

7. What new products or services does your company have? How does your company
research and test new products? How does your company advertise new products or
services - online, in the press, or using other media?

8. Why do you prefer to buy branded products?
9. Do you visit other companies? Do people visit your company? Why?

10. Speak about doing business in a different culture: can we talk business in a
restaurant? Is it easy to conclude a deal? Do meetings and appointments usually start
on time? Can we start talking business at the beginning of the meeting?

11. Speak about benefits that your company offers including: pension, flexible
working hours, medical insurance, maternity/paternity leave, training, paid holiday.
Which ones are most important to you?

12. Talk about: how you found out about the job, the interview, why you liked the
job?

13.Speak about your career. How long have you worked for your present company?
How long have you had current job? How many companies did you work for? Have
you ever done completely different type of job? What? Tell your partner how and
why you chose your career.

14. What makes the difference between good and bad customer service? Speak about
poor customer service. Have you stopped using company’s products or services
because of a bad experience? What happened?

15. What do you think is the main reason why people don’t buy goods on the
Internet? What do you think are the best-selling products on the Internet? Where do
you prefer to do your food shopping - in a small local shop, a big supermarket, or
online?

16. Think of common problems people can have with orders for goods. What sort of
goods have you ordered? How did you order them? Was it easy?

17. Make a presentation about the company structure. Which department do you
work in? Which department(s) do you have most contact with? Why?

18. What do you usually have for lunch and where do you eat? What do visitors to
your company have for lunch? Where do they go to eat? Think of a typical three-
course meal to offer him/her.

19. How often does advertising influence your buying decisions? How does your
company advertise? What sort of customers do you target?

20. Describe the process of developing new software.

llpaxmuueckue 6onpocul 0151 6edeHus 0esl080l NepentucKu
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[IpuMepHbIM IEpEYECHb CUTYAlUH U1 HAIIMCAHUS TIUCEM K 3a4ETy:

1. Requesting Information

Write a letter to a company. You are looking for a new supplier of office stationery.
Ask them to send you a copy of their latest catalogue and a price list. You also want
to know where their company is based. Thank them in advance for their help.

2. Application Letter. You are presently working in Moscow as a personal assistant.
You are interested in finding another position. Write a letter to a recruitment agency
based in St. Petersburg. Ask them to send you details about their agency and any
vacancies they have for personal assistants at the moment.

3. Accommodation Information

Write a letter to the hotel. Ask for some information about their hotel: a single room
for the night of 23d April and the price including breakfast. Ask them to let you know
if there is a car park near the hotel. Thank them in advance for their help.

4. Making a complaint

You are writing to a travel agency to make a complaint about the hotel recommended
you for your holiday. You are not happy with the room and the service was bad: no
swimming pool, gymnasium, car park were available. Make a point connected with
their advertisement saying “three-star rating”. Ask for adequate compensation. Give
them a warning.

5. Ordering

You have ordered a book online. When you received the book, you found the book
was in Spanish not in English. Write to a company and ask them to send you the book
in English version. If they don’t have the English version in stock, then ask them to
send your money back (ask for a refund).

6. Apologizing

You are a Customer Service Manager. Write to a customer who rented a car from
your company. Apologize for the trouble he had with the car rented. Assure your
customer that in the future every car the company provides is delivered with a full
tank of petrol. Regret the inconvenience and express your wish to further co-
operation.

7. Requesting Information

Write a letter to a partner in Moscow. Tell him that it was a pleasure to meet him at
the Trade Fair last month. Inform your partner that your company is planning to open
a branch in Moscow and you are looking for office space in the town centre. You
need to know the names and the addresses of some property agents. Ask your partner
to send a list of agents. Thank him in advance for his help.

8. Requesting Information

You are a manager. Write the message to your Personal Assistant. Ask him to send
you a copy of the new customer address list. You also need the quarterly sales report.
Ask him to finish it by this Friday. Remind him about the sales meeting next Tuesday
at2 p.m.

9. Requesting Information

Write a letter to your partners. Tell them that you are just making the final

arrangements for their visit to your company next week. You need all the details
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about your partners’ flight (flight number, date and time of arrival). Inform them that
they will have free time on Wednesday evening. Invite them to do some things
around the town (visit to the theatre, show round the town, etc.).

10. Apologizing

Write a letter to your customer. Tell him that you learned of the problems he was
encountering with your company product. Apologize for the quality problem. Inform
your customer that your representative will meet him next week to investigate the
problem. Regret the inconvenience and assure you co-operation.

11. Information About Price Increase

You are a sub-manager of the company. Inform your customers about price increase
for your company product. Give the reason (a change in government regulation). Tell
them that the new prices will apply to all orders shipped after 1 June. Inform them
that you will send a new price list with suggested sale prices. Apologize and close the
letter.

Ilepeuens ghpaz-knuuie 01: 6edenusn 0€1060u KOPPEeCnROHOCHYUU:

We are writing to enquire about ...

Thank you for your letter of (date) asking if .../ enquiring about .../
enclosing .../ concerning ...

We are writing in connection with ...

We are interested in ... and we would like to know ...

We have received your letter of (date) asking if .../ enquiring about .../ enclosing
.../ concerning ...

I look forward to receiving your reply/order/products ...

| hope that this information will help you.

Looking forward to hearing from you.

Please don’t hesitate to contact me if you need any further information.

Please feel free to contact me if you have any further questions.

| am pleased / delighted / happy to tell you that / to inform you that / to advice you
that ...

With reference to ...

Further to ...

With regard to ...

We are unable to .../ we are able to ...

We have been forced to...

| regret / I am sorry to tell you that .../ to inform you that / to advise you that ...
This is owing to / due to./ as a result of./ because of ...

We must apologise for...

We are extremely sorry for...

Please could you

We would be grateful if you could...

We would appreciate it if you could...

As soon as possible

Without delay
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Immediately

Please accept our apologies once again

We hope that this has not caused you any inconvenience

With apologies once again

We would be grateful if you could give us some further details about ...
We would appreciate it if you could let us know (about/if) / inform us (about/if) ...
We would like to know (about/if) ...

Eounsie 3a0anus k mekcmam 011 GHHOMUPOBAHUSL U pehepupoBaHus.

1.Onpenennte OCHOBHBIE BOIPOCHI, paCCMaTPUBAEMbBIE B TEKCTE.

2.0TMeThTe ab3arpl, B KOTOPBIX COJEPKHUTCS HanboJiee CymecTBeHHAas HHPOPMaIUs
TEKCTa.

3.HaitauTe Kito4eBbIe CJIOBa, MEPEIAOIITUE OCHOBHYIO MBICITH a03alia.

4. Haitnute npeuioxeHus, epeiainne Handoiee 3HauuMyt0 HHPOPMAIIUIO TEKCTa.
5.Haiinure mpemsiokeHus: B KaKI0M ab3ale, 3a cueT KOTOPBIX MOXHO 3TOT ad3all
COKpAaTHUTh.

6.ChopmMmynupyiTe TIaBHYIO MBICIIb KaXA0T0 ad3aria.

8.CocTaBbTe IJIaH MOJHOTO U3JI0KEHUS TEKCTA.

9.CocTtaBbTe KpaTKyI0 aHHOTAIUIO U pedepaT K TEKCTY.

Kpumepuu oyenusanus

CyMMapHO OILICHMBAIOTCS OTBEThl Ha BOMPOChl. OTBETHl JOJKHBI  OBITh
Pa3BEpHYTHIMU, MOJHBIMHA. Ka)KIblii MPaBWJIBHBIA OTBET HA BOMPOC OLIEHUBAETCS 1O
15 6a1oB B 3aBUCUMOCTH OT TIOJIHOTHI OTBETA.

OrneHnBaeTCs MOTHOTA PACKPBITUS MaTepuaia (JaH MOJHBIN, Pa3BEPHYTHIA OTBET HA
MOCTABJICHHBIA BOMPOC); YMEHHUE BBIICIUTh CYIICCTBEHHBIC W HECYIICCTBCHHBIC
IIPU3HAKH, IIPUYUHHO-CJIECTBEHHBIE CBSI3U; AKTUBHOE VICIIOJIb30BAHUE
AKOHOMMYECKOHN JIEKCUKH, (hpa3-IITaMIIOB; YPOBEHb CHOPMUPOBAHHOCTH HABBIKOB U
YMEHUN MOHOJOTMYECKOHM pedyr (COOTBETCTBHE TEME M CHUTyallud OOIIECHHS,
JIMHTBUCTUYECKAs HOPMATUBHOCTb, JIOTMYHOCTH BBICKA3bIBAHUSA, AMOLMOHAIbHAS
OKpAIIIEHHOCTh, CaMOCTOSATEILHOCTh BBICKA3bIBaHMS); YMEHHE BECTH Oeceny ¢
AK3aMEHATOPOM 10 MPOUAEHHOMY Marepuainy, JEMOHCTpalus YMEHUs aJeKBATHO U
rPaMOTHO pEarupoBaTh Ha IIOCTABJICHHBIE BOMNPOCHI; BIIAJCHUE COBPEMEHHBIMU
METOJIaMU BEJECHUS AEI0BOM KOPPECTOHACHIINU.

IIpumep 6annvHOU cucmemvl OYeHUBAHUSL:

Kommuectso

Kpurepuu orieHuBanus
puTep it OaJUI0B

— TIOJTHO PAcKpPBITO COJIepIKaHNEe MaTepraa;
— MaTepual U3JI0KEeH IPaMOTHO, B ONPEICICHHON JIOTHUECKOM
TTOCJIC0BATEIILHOCTH; 10-15
— IPOAEMOHCTPUPOBAHO CHCTEMHOE U TNIyOOKOE 3HaHUE MaTepUala;
— TOYHO HCIIOJIB3YCTCA TCPMHUHOJIOT A,
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— IIOKa3aHO YMEHME WJUIIOCTPUPOBATH TEOPETHUECKUE TIOJIOKEHUS
KOHKPETHBIMU IIPUMEPaMHU, IPUMEHSITHh UX B HOBOM CUTYalUH;

— IPOAEMOHCTPUPOBAHO YCBOEHUE PAHEE U3YUEHHBIX COIIYTCTBYIOIUX
BOIIPOCOB;

— OTBET JJaH CaMOCTOATENbHO, 0€3 HaBOASIIMX BOIIPOCOB;

— MPOJIEMOHCTPUPOBAHA CIOCOOHOCTH TBOPUECKU MPUMEHSTH 3HAaHHE TEOPUU
K PELICHUIO MPO(PECCHOHATBHBIX 3a/1a4;— JOIMYILEHbl 0/IHA-/[BE HETOUHOCTH
IIPU OCBEILIEHUH BTOPOCTETIEHHBIX BOIIPOCOB, KOTOPBIE NCIPABIIAIOTCS 110
3aMEYaHMIO;

— BOIIPOCHI U3JIararoTcs CUCTEMaTU3UPOBAHO U I1OCIIEA0BATENBHO;

— IPOJIEMOHCTPUPOBAHO YMEHHUE AHAIU3UPOBATh MaTEPUAJl, OJTHAKO HE BCE
BBIBOJIbI HOCSIT ApI'YMEHTUPOBAHHBIN U JJOKa3aTEJIbHBIN XapaKkTep;

— IPOJIEMOHCTPUPOBAHO YCBOCHHE OCHOBHOM JIMTEPATYPHI;

— OTBET Y/IOBJIETBOPSICT B OCHOBHOM TPeOOBAaHUIO HA MAaKCUMAJIbHYIO OLICHKY,
HO MPU 3TOM UMEET OJIMH U3 HEIOCTATKOB: B U3JI0’KEHUHU JOITYIICHBI
HeOoupIe Tpo0ebl, He HCKa3UBIINE COICPIKaHNe OTBETA; IOMYIICHBI OJTNH-
JIBa HEJIOUETa

IIPU OCBEIIEHUH OCHOBHOT'O COJIEpYKaHUs OTBETA, UCIIPABICHHbIE T10
3aMEYaHMI0 IIPETNo/1aBaTeNs;

— JIOTYIIEHBI OMMOKa WK OoJiee ABYX HEOYETOB IPH OCBEIICHUU
BTOPOCTENEHHBIX BOIPOCOB, KOTOPHIE JIETKO UCIPABIISIOTCSA 110 3aMEYaHUIO
IpenojaBaTes;

— HETOJIHO WM HENOCIEA0BATEIbHO PACKPHITO COEPKaHNE MaTepUaa, HO
[I0Ka3aHo 00Illee NOHMMaHue BONPOCa U IPOJEMOHCTPUPOBAHbI YMEHUS,
JIOCTAaTOUYHBIE JUIsl JAJIBHEUILIETO YCBOCHHUS MaTepUala;

— YCBOEHBI OCHOBHBIE KaTETOPUHU IO paCCMATPUBAEMOMY U JIOIIOJHUTEIILHBIM
BOIIpOCaM,;

— UMEJINCh 3aTPYAHEHUS UM OIMYLIEHbI OIIMOKY B ONpeAeICHIH MTOHATUH,
MCII0JIb30BaHUU TEPMUHOJIOTUH, UCTIPABJIEHHBIE TIOCIIE HECKOIBKUX
HABOJAIIUX OTBETOB;

— HETOJIHOE 3HAaHHE TEOPETUYECKOro MaTepraa, 00yJaroluics He MOXeT
MPUMEHUTH TEOPHUIO B HOBOW CUTYallUU;

— IPOAEMOHCTPUPOBAHO YCBOEHUE OCHOBHOM JIMTEPATYPBHI;

4-6

— HE PaCKPBITO OCHOBHOE COZIEpP)KaHUE YIeOHOT0 MaTepuaia Ju0o 0TKa3 OT
OTBETA;

— o0HaApyXKEHO HE3HAHUE WJIM HETIOHWMaHue OOJIbIIeH WM Hanboiee BaKHOM
YacTu yueOHOro MaTepuana;

— JIONyIIEHBI OIUOKU B ONPEACIICHUY TIOHATHH, TPU MCIIOTH30BAHIH
TEPMHHOJIOTHH, HEKOTOPBIE HE UCTIPABICHBI OCTIE HECKOIBKUX HABOISIIINX
BOTIPOCOB.

1-3

-OTBCT HC ITOJYUCH.

Hpumep OanbHOU cucmemvl OYEHUBAHUA 60NPOCO6.

3agaHue
Kpurepun oniennBanus

Konnue
CTBO
OaJUI0B
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Teopernueck — TIOJTHO PACKPBITO COJIEP)KaHUE MaTepHaa; 0-15
U BOIIPOC — MaTepuall U3JI0KE€H IPaMOTHO, B ONPEIEICHHOM JIOTUYECKON
MOCJIeI0BATEIBHOCTH;
— IPOJICMOHCTPUPOBAHO CHCTEMHOE U TIyOOKOE 3HaHHE
MaTepuana,
— TOYHO UCTOJIB3YETCSI TEPMUHOJIOTHS;
—OKa3aHO  yMEHHE  WUIIOCTPUPOBATh  TEOPETHYECKHE
MOJIOKCHUST KOHKPETHBIMU TPUMEPAMHU, TPUMEHSATh MX B HOBOH
CUTYaIluH;
— IPOIEMOHCTPUPOBAHO YCBOCHUE panee W3YYCHHBIX
COITYTCTBYIOIIIUX BOIIPOCOB;
— IONyIIEHbl ~ OJIHA-JIBE  HETOYHOCTH TPU  OCBEIICHHUH
BTOPOCTENIEHHBIX  BONPOCOB,  KOTOpbIE  HCHPABISAIOTCA IO
3aMEUYaHUIO;
[IpakTrueckuit — OTBET JIaH CaMOCTOSTEIbHO, 0€3 HaBOISAIINX BOTIPOCOB; 0-15
BOIIPOC — TPOACMOHCTPHUPOBAHA CIIOCOOHOCTH TBOPYECKH MPUMCHSITH

3HaHUE TEOPHH K PEIICHUIO MPO(eCCUOHANBHBIX 33a4;
- BCE BBIBOJBI HOCAT ApPTryMEHTHUPOBAHHBIA M JIOKA3aTEJIbHBIN
Xapaxkrep
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